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Writing an Equation of a Linear Function
Given Two Points

The sum of the angles, s degrees, in a polygon is a linear function
of the number of sides, n, of the polygon. The sum of the angles in
a triangle is 180°. The sum of the angles in a quadrilateral is 360°,

\5)
a) Write a linear equation to represent this function. (n N

b) Use the equation to determine the sum of the angles in a dodecagon.

Q\((‘S.’B% M= 360 ~30 j— Bo= ’BO(X"'3>
¥,360 4-3
) ™M = 190 t) =(¥0= I%OK“S"D

’(b) (2 s'ub; SnN=/2 V'SIQOK—S‘U
S</80(/2)"3€0 <= /800 36

=/Bog’ S= /30(n—)>

6.5 Slope-Point Form of the Equafion for a Linear Function
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.
3. Atemperature in degrees Celsius, ¢ is a linear function of the

temperature in degrees Fahrenheit, f. The boiling point of water

is 100°C and 212°F. The freezing point of water is 0°C and 32°F.

a) Write a linear equation to represent this function.

b) Use the equation to determine the temperature in degrees Celsius
at which iron melts, 2795°F.
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Writing an Equation of a Line That Is Parallel
Example 4 - . -
or Perpendicular to a Given Line

Write an equation for the line that passes through R(1, —1) and is:

2
a) parallel to theline y= Zx— 5 M= ‘2_'_

3 3 (-C)
2
b dicular to the line y = Zx— 5
) perpendicular to the line y 3x M=-}.
o>

NYHE(x-1)  b) y="3x+b

3= a(x~1
éb:,f:« k-2 ) T1==3( N+b

ONIONYLSHIANN HNOA HD3IHD

N\

~
v)
o
-

+
lw
-

6.5 Slope-Point Form of the Equation for a Linear Function



Practice problems...
Page 372 - 374

#4,5,6,9,10,11,12,14,17, 18, 20, 21, 22, 23, 24, 25



Examples... Finding the Equation of a Line
Determine the equation of the line given that...

(Put equations in STANDARD Form)
a) the line passes through the points (-3, 5) & (-2, -7)

b) the line passes through the point (-2, 3) has the same slope
as the line 3x - 2y -5 =0

c) the line has an x-intercept of 4 and a y-intercept of -3

C‘flo\ (0{‘9
3_:: — -y 7
M=%

-3
\ ew\xi-L “\)+3~ -776(‘@

% "{V.H'Z‘:'B)(

Yaz Sx - /2
T3



BONUS!

#3. For each pair of equations, find a value for £ so that the... ( o ]

a) graph of 4x +ky - 2 = 0 is parallel to the graph of 3x - 2y =5

b) graph of 4x + ky = 6 is perpendicular to the graph of 5x -2y + 5=10
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